@ a=+b

D xx2=1x2

@ 2xxx(=3)xy=—6xy

—1lab

® ax(-1)xb



2. a=3 b:-zgw,ab-gmk—;—%ao%a}.



AA x°C = 3 §x+32 °F ojct. 3HX] 104 °F = A4 222 dut

A7}

@® 30°C @ 40°C ® 50°C @ 60°C ® 70°C



@ 3a-4b+1
1
@ ax(—§b)+1






olJ
RS

To°

Lo

[\ M Eaa)
ol



5 oAl 1
Sa71e) WA S, A2 TS A iy [2ers ot

< 5o Hl 7h2 A2l gttt A, B, 1 31—1 | 22—7
C, D o &ure Ao} =25 At = c | D
oozt

D ERE



2
—— -x

-5 oA
o, a+b+c 2 &

X

A
=

L,
__oo

o}

8.

2

sh?

_ZF_

o
=

St
=

c 2



oralF] o] ¥tz] 20| 40cm , HEFH Q] "Hz]20] 50 cm ¢l A A 9
orut| 7} x ¥l 3] Ws W, Slutg s} S| AGHE S48 ¢ 2 AR
Uehjoat,

&=
=%

rE



10. o® A Aol 2x -3 & GUHEY —5x + 2 7F HL, 4 Tx -7 oA
ol"d 4 BE MAHY 10x -4 7} H ATk o] W, A + B S 7-51H?

O -10x+2 @ -10x-2 @ 10x+2

@ 10x-2 ® 10x-10



